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Why? DIY 342

e Chatbot Builder (=Dialogue Manager)
As| 5t CIE2X|2E M ZCH0 M2stM e 0] REE o|slst=0| X|&0] gi&LILCt.

 We need different chatbot builders for various chatbot services.

e Chatbot builders can’t call some external APIs.

e Deep Learning (=DL)
e DL can’t perfectly control NLU outputs(predictions).

e | don’t know DL. DL is hard to learn.



How? DIY X%

e Messaging Platform

e Slack, Facebook, ‘-

O] WEHAM CIF= LHE
e Dialogue Manager (DM)

e Rule based (Scenario based)

e Natural Language Understanding (NLU)

e Intent Classification (IC)

e Example based (Search-engine based)

« Named Entity Recognition (NER) ﬁ.

e Dictionary based (Regular-expression based)
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e Natural Language Generation (NLG) -

e Template based
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Chatbot System DIY 34
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Chatbot System DIY 34

Messaging
Platform

userid: bage

NLG

External
API



Chatbot System DIY 34

input: “THH{&l THo] & 2{F.”

Messaging DM entity: THHEZ
Platform intent: check.remain

userid: bage

NLG

External
API



input: “THH{=! Tro] ZQIE aa{F.”

entity: THH{ !
intent: check.remain

Messaging
Platform
userid: bage  state: THHE ZOIE XS]




input: “TRE2! TH0| ZOIE 24a{F »

Messaging
Platform

entity: THH<!
intent: check.remain

userid: bage  state: THH&IZOIEX ]

template: “[name]de| 0] ZQIE = [point]E &IL|LC}.”




input: “TRE2! TH0| ZOIE 24a{F »

entity: THH<!
intent: check.remain

Messaging
Platform
userid: bage  state: THHZZOIEZTF|

template: “[name]&lg| 0] ZOIE = [point] ™ &IL|C}.”

name: 63
point: 1000



input: “THH{= Tto] EQIE Ha{F|.”

Messaging
Platform

userid: bage  state: THHElZ2IEZXJ]

output: “Bls||2Llo| Zto] ZTOIEL 100-

template: “[name]&lg| 0] ZOIE = [point] ™ &IL|C}.”

entity: THH<!
intent: check.remain

name: 253
point: 1000
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Chatbot System DIY 34
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input: “THIH<l £H0{ & 23"

entity: THH{
intent: check.remain

Messaging
Platform

userid: bage  state: THIHEZEQIEZX3]
output: “4}5]| 32| 0] Z2IE= 1000’.51%!'—|\|E&”

template: “[name]=lQ| 0] Z2IE = [point] ™ QILICE.”

External
API

name: 2H6|S
point: 1000
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Scenario

Scenario

userid: bage

state:
THH{ &l EOIE X 3|

Actions

Conditions

Execute

------------------------------------------

External
API

point: 1000
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e Data Structure
e Linked List

e Constants
e Global

e Actions

e foOr variables

e Variables
e from User, API, NLU, NLG -

e Conditions

e equal, greater, little, exists, -

2IzjUe| 1 HAe} HIREILICE

Scenario

Scenario

Actions

Conditions
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e Request e Understand

e from a user e NLU
e Inform e Generate
e tO a user e NLG
e Execute

e external API

Request : nderstan
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< Platform
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NLU with Deep Learning

Train Test

train/test 0|A classifier AF2

predictions



NLU without Deep Learning DIY 32

Train Test

train/test O] M 242t C} rator 2} classifier A2

reqular
9 tokens

expressions

predictions



NLU without Deep Learning

Test

LEMAEH | [REHHE]

QEN/ASH

predictions







Preprocessing




Tokenizotion DIY At
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AE/E/SHME X2 X
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n-gram HENAEAMT|E =[0j47|2O2 ALR310], Of0|Lt ZALE H2|El He
tokens 28,293,222 =20
word
tokens
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morph
tokens



Intent Classification DIY A2
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Train

Intent Classification

sentence

n-gram
tokens

=

tokens

search engine

tokens

search

Test

sentence

n-gram word morph
tokens tokens tokens
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String to Pattern DIY 22

\st\s*[-]\s*ET\s* 2T



NER DIY At

Train Test

pattern file

QEN/ASH

predictions



NER

Train

m words(phrase)

words

regular expressions

pattern file

Test

predictions







Overcome Spelling Errors - IC DIY 3%

t!tE!E_!_E!E y y y
o,ouL U7 1 _ _0O0
n-gram n-gram
tokens tokens
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Overcome Spelling Errors - IC DIY 2%

character based
67%

n-gram
tokens

vO.1

=4/6

user input

Similiarity

alphabet based
85%
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Overcome Spelling Errors = NER DIY 3%

-T2 ol1_0

\st\s*[-]?\s*T 2= \s*olL1_O
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\st\s*[-]\s*Z\s* Q2 TITETETERTTE = \st\s*[-]?\s* T2 2.2 \s*O 10O
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vO.1 v0.2



Overcome Spelling Errors = NER DIY 3%

user input

pattern matching

failed A success
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\st\s*[-]\s*EFl\s* 2= \st\s*[-]?\s*z—= \s*ol_0O

vO.1 v0.2



Overcome Typing Errors = NER DIY 3%

-T2 ol 1_0O -T2 ol 1_0O
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\st\s*[-]?\s*T—= \s*fou_0O \st\s*[-]?\s*ZT—=&

v0.2 v0.21



